Draw a single closed loop visiting each of the six 10X10 sub-grids. The loop follows a different rule in each sub-grid.

A - LineSweeper Variation - Numbers in the grid show the number of cells used by the loop in the 3X3 area, with the cell in the middle of
it. The loop can pass through cells with numbers.

B - LineSweeper - Numbers in the grid show the number of cells used by the loop in the surrounding 8-cell area. The loop cannot pass
through cells with numbers.

C - Simple Loop - Loop passes through all white cells. Some parts of the loop may be drawn.

D — Maxi Loop — The numbers in the boldly marked regions indicate the highest amount of cells that the loop goes through consecutively
(i.e. without exiting to another region) in that area. Loop passes through all cells.

E - Railroad Tracks — The loop can cross itself with a given ‘+". The loop must pass straight through numbered cells, and must travel in
order from 1 to 2 and so on till 10 and then back to 1. Loop passes through all cells.

F —Masyu - The loop turns in every black circle and goes straight through both adjacent squares. The loop goes straight through every
white circle and turns in at least one or both adjacent squares.

Answer Key : For each of the sub-grid (in order A, B, C, D, E, F), enter the number of time the loop enters or exits the sub-grid. For 2 digit
answers, enter the unit (right most) digit only. [ Your final answer will be a six digit number. |
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Draw a single closed loop visiting each of the six 10X10 sub-grids. The loop follows a different rule in each sub-grid.
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